
https://www.passapply.com/hp0-y52.html
2024 Latest passapply HP0-Y52 PDF and VCE dumps Download

 

 

 

HP0-Y52Q&As

Applying HP FlexNetwork Fundamentals

Pass HP HP0-Y52 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/hp0-y52.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

 

 

HP0-Y52 Practice Test | HP0-Y52 Study Guide | HP0-Y52 Exam Questions                                1 / 3

https://www.passapply.com/hp0-y52.html
https://www.passapply.com/hp0-y52.html
https://www.passapply.com/hp0-y52.html


https://www.passapply.com/hp0-y52.html
2024 Latest passapply HP0-Y52 PDF and VCE dumps Download

QUESTION 1

When configuring Multiple Spanning Tree Protocol (MSTP), how should VLANs be separated to perform load
balancing? 

A. placed into separate instances 

B. configured with different priority values 

C. never configured with more than one VLAN per instance 

D. placed into separate regions 

Correct Answer: A 

 

QUESTION 2

A company wants to implement HP Intelligent Resilient Framework (IRF) at the access layer. Which switches could they
use? 

A. two HP 5500 HI Series switches 

B. one HP 5412R zl2 Series switch and one HP 5800 Series switch 

C. one HP 5800 Series switch and one HP 5500 Series switch 

D. two HP 5406R zl2 Series switches 

Correct Answer: A 

 

QUESTION 3

A network administrator enters this command on an HP ProVision switch with IP routing enabled: 

ip route 0.0.0.0/0 10.1.1.1 metric 10 distance 10 

This is the only IP route to 0.0.0.0/0 on the switch. What is the effect? 

A. The switch uses this route for all traffic that does not match a specific route in its routing table. 

B. The switch uses this route for all traffic unless the traffic matches a route with a lower administrative distance than
10. 

C. The switch uses this route to route all traffic from 10.1.1.1. 

D. The switch uses this route for all traffic unless the traffic matches a route with a lower cost than 10. 

Correct Answer: C 
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QUESTION 4

Refer to the exhibit. 

The physical interfaces for Comware-1 and Comware-2 switches in the exhibit are configured in routed mode and
OSPF. Both switches have the three subnets in their routing tables. The administrator wants to use DHCP to assign
addressing information to the users. Based on the exhibit, where should the administrator configure DHCP relay? 

A. Comware-1. G1/0/2 

B. Comware-1, G1/0/1 

C. Comware-2. G1/0/2 

D. Comware-2, G1/0/1 

Correct Answer: B 

 

QUESTION 5

How does Open Shortest Path First (OSPF) help enterprises meet their high availability requirements, compared to
RIP? 

A. OSPF is usually easier to troubleshoot if problems occur 

B. OSPF has a resilient, non-hierarchical design 

C. OSPF provides faster convergence. 

D. OSPF uses less CPU during routing updates 

Correct Answer: C 
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